AEl EESAE|O13|A AT OIHIA ZRIX

=5 4Y/HIE o[0ix|

for electrics

© HEINRICH KIPP WERK GmbH & Co. KG

oY

THE:

AR T

LIAL &E2[E U &3 El, }HarZ,

AE|QIZ|A AE! BH{A:
= El 4ds)

LIA} 22| 1.4305.
2 El1.4034.

o= F38E:

EM OlF2]:
AR T

— ]
Ha g, dstxlx| g, ook & XedM nrF 2|

o|2:
e M7t 2l
LICt. EE8F 232 ElO| Hots &S HE Qs W2 EFE = UEL

cth.

E:

IS B FM S,

SEE HiM &7,

XI5HQl HiE 2| #E2 AT AL Tts.
2+ B ME| s,

AL

E4 A g,

HMIA{E]:

HO|EQ| 0| K1494.

otHM:

AE) M7 e QIElA EFHX = QI ot 7 S0l MEtstR| t&L
Ct.

www.kipp.com - info@kipp.com 1/2



°
A =ZalAEI] A3 b S al (=] O] —
AE MIA{, E2IAE A T8, &= HE 3 F12E HEJ} U=
AElI CCX= A A AEI A =
AEI L= A2 A AR OIHIA SR
=N
O)
D2
| swi
|
~l : sw2
3
('
03k
DIl
Zs 29
FEHS B 2 & EH D D1 D2 AEZ3 L L1L2L3 SW1 SW2 Fx30° AEZ3 A& Bt
718 == S S Bt =
F1 2N F2 2N
K1495.4105 D AE FEE 5 M10x1 35 5 5717 7 15 13 17 1,3 5 5 12
K1495.4206 D AR Zs 6 M12x1,5 35 6 6220 8 17 14 19 1,8 6 6 14
K1495.4308 D AES A3 8 M16x1,5 35 8 76261023 19 24 23 8 15 35
K1495.4410 D AE 28 10 M20x1,5 35 10 82281225 22 30 28 10 15 34
K1495.4412 D AR Zs 12 M20x1,5 35 12 86281425 22 30 28 12 15 39
K1495.04105 D AHQEA A& 43 5 M10x1 35 5 5717 7 15 13 17 1,3 5 5 12
K1495.04206 D AH|IQIEA AR A3 6 M12x1,5 35 6 6220 8 17 14 19 1,8 6 6 14
K1495.04308 D AHQIFA AE A3 8 M16x1,5 35 8 76261023 19 24 23 8 15 35
K1495.04410 D AEHQIHA AE Zs 10 M20x1,5 35 10 82281225 22 30 28 10 15 34
K1495.04412 D AHQIEA AR A8 12 M20x1,5 35 12 86281425 22 30 28 12 15 39
K1495.14105 D AH[QIBA AR H[AS 5 M10x1 35 5 5717 7 15 13 17 1,3 5 5 12
K1495.14206 D AHQIEA AR HIZAS 6 M12x1,5 35 6 6220 8 17 14 19 1,8 6 6 14
K1495.14308 D AH[QIBA AR H[AS 8 M16x1,5 35 8 76261023 19 24 23 8 15 35
K1495.14410 D AH[QIEA AR H[AS 10 M20x1,5 35 10 82281225 22 30 28 10 15 34
K1495.14412 D AHIQIHA AR H|AS 12 M20x1,5 35 12 86281425 22 30 28 12 15 39

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



